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for i in range (1, 7):

print x
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AR = [2]

for i in range(1, 10):
x = 2 * AR[1 - 1]
AR . append (x)

B3.

o) True
B) False
Y) False

©OEMA T

def TYPOS_EMB(age): #[2
if age <= 50:
return "TOmog 1"
elif age <= 60:
return "TOmoc 2"
elif age <= 70:
return "TOmog 3"
else:
return "TOmog 4"

first = True
countInsured = 0.0
countFemales
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age = int(input("Adce nAtkio: "))

while age >= 40:
sex = raw_input("Adoe @VAo: ")
while (sex != "I'" and sex != "A"):
sex = raw_input("Adoce @UAo Eavd: ")
amka = raw_input("Adce AMKA: ")
vaccine = TYPOS_EMB(age)
print "AMKA: ", amka, "EpufoAio: ", vaccine #['3
if first:
oldestAge = age
oldestAmka = amka
oldestSex = sex
first = False
else:
if age > oldestAge:
oldestAge = age
oldestAmka = amka



oldestSex = sex
countInsured += 1.0
if sex == "I'":
countFemales += 1
age = int(input("Adoe nAitkio: "))

print "0 peyoAOtepoc / n €xet AMKA: ", oldestAmka, " kot @UAo: ", \
oldestSex #I4

print "To mocootd Twy yuvalkev sivat: ", (countFemales / countInsured) * 100 #I'5
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OMADES = [
BATHMOI =
PROK = []
BATHPROK = []

]
(]

N = 100
countTies = O

for i in range(N): #A1
name = raw_input("A¢oe Svopa opddoc: ")
grade = int(input("Adce Pobud opadoc: "))
OMADES . append (name)
BATHMOI . append (grade)

for i in range(N): #A2
if BATHMOI[i] > 150:
BATHPROK . append (BATHMOT [i])
PROK . append (OMADES [i])

#13
N = len(PROK)
for i in range(N-1):
for j in range(N-1, i, -1):
if BATHPROK([j] > BATHPROK[j-1]:
BATHPROK[j], BATHPROK[j-1] = BATHPROK[j-1], BATHPROK[j]
PROK[j], PROK[j-1] = PROK[j-1], PROK[j]
elif BATHPROK[j] == BATHPROK[j-11:
if PROK[j] < PROK[j-1]:
BATHPROK [j], BATHPROK[j-1] = BATHPROK[j-1], BATHPROK[j]
PROK[j], PROK[j-1] = PROK[j-1], PROK[j]

#14



for i in range(1, N):
if BATHPROK[0] == BATHPROK[i]:
countTies += 1

if countTies != O:
countTies += 1

print countTies



